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PROVISIONAL ANSWER KEY

Paper: 079 - Book-keeping (Theory and Practical)
Date of Test 28-05-2024
Questionl:-The long-term assets that have no physical existence but are rights that have value are known as
600H @pMmdlgpOm®e 0fMITB geiRss @RAISUEEEE20W dldaleoel aRmyleud
A:-Investments
mleeHaleaRud
B:-Intangible assets
@PGUBYROQ) «mrmgaa;oﬁ
C:-Fixed assets
audle ermyleud
D:-None of the above
@D AlOOMAIOWITBAL)
Correct Answer:- Option-B
Question2:- implies that a business unit is separate and distinct from the person who owns or controls it.
M@ 8@ ilmilmmy’ ey’ @erclldeo esemuumelgesemd MeEleamemd o ABEIRI amlmy sadls@e ALMYQ@IeEM Myallaflesme.
A:-Money measurement
aléMo @RSET
B:-Business Entity
eniardlmay’ muodaimoe
C:-Going concern
enIles @6endEarLEM
D:-None
amag)
Correct Answer:- Option-B
Question3:-Revenue — Expenses =
QEBAIMe — O2IBIQYBUB =
A:-Net income
(GTOQO.I(!BQO(‘Do
B:-Net loss
(GTDQ (T)n%o
C:-Depreciation
QOO EA 5|
D:-None of the above
QG AlOFOMAIOWIMRRG)
Correct Answer:- Option-A
Question4:-What increases the Assets and Equity?
ag)mo6y @OIVOEZo oaldlQe adasljesma?
A:-Fresh Capital
JOI@ gelwme
B:-Debts paid off
&senud aflg)
C:-Revenues
Q@AIMo
D:-None of the above
ABHEIW AlOFTDAUOWIMRREY
Correct Answer:- Option-A
Question5:-Day book is also known as
GOW 6NYEs” )Mo @RAIWe5ID
A:-Journal
GREM@D
B:-Voucher
OB
C:-Ledger
ealwnd
D:-Book keeping
nyes Yol ©d
Correct Answer:- Option-A
Question6:-Which of the following journal entries is required to close the income summary account of a profitable company?
2I0EHERIY BB HMIMIQYSS QITBRIM MVoad EROEHDVENE GHITY amugm’)mﬂrﬂ @IOPORQ EREM@B af BElBEIDB ag@oeny caleR®?
A:-Debit income summary, credit retained earnings
ewenllg’ AImAOMm MWate, OGWIY Mlaimldoslo aimacme
B:-Credit income summary, debit retained earnings
O@WIY QIGBRIM MisWade, HWENTY mlaimldomie aismadme
C:-Debit income summary, credit capital stock
©wenllg’ AImAOM MeWane, BGWIY gaibm
D:-Credit income summary, debit capital stock
GG QIBAIM MIsaDs, HAWENIY GRILM EGTYRIES
Correct Answer:- Option-A
Question7:-Trial balance extract on 31-3-2017:
Sundry debtors - Rs. 30,000
Existing Provision for Doubtful debts - (Cr.) Rs. 2,000
New Bad Debts provision at 10% on Sundry Debtors are to be created.
How much will be charged to profit and loss account during the year?

@b eIy aggisog 31-3-2017:
allalw eseod - @. 30,000
MNVeE@OMYENIW @sarudes Mlalnllayss aiaimun - (Cr.) @. 2,000
allalw @seodes’ 10% agon wleas|od ojolw @lgoes aaImnd ayayeso.
QABUODIED LI0RMY @OEVENECRIE af)@ D> BDVSOER?
A:-Rs. 3,000
@. 3,000
B:-Rs. 2,500
@. 2,500
C:-Rs. 2,000
@. 2,000
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D:-Rs. 1,000
@. 1,000
Correct Answer:- Option-D
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Question8:-Which of the following accounts would never be reported in the income statement as an expense?
QG@2OM CIRFPAMBAI GOLAJOQYMN EROEVENBBSEITD oGO 621210100 BElEEJe G18njodS 6 21Q6]SIOM®?

A:-Depreciation expense
QeieBd4 ealeiql

B:-Income tax expense
@RIV W& ealeIaf

C:-Interest expense
aleflve ealelal

D:-Dividend expense
awlaflowmd’ e.aial

Correct Answer:- Option-D
Question9:-A higher inventory ratio indicates
2OAM HOMEAUMBOC] @RI

A:-Quick inventory turnover
qo Mmoo m’lggmrao]‘

B:-Better inventory management
o5 oMBeUMOC] BoemeIOnma

C:-Both (1) and (2) are incorrect
(1) 20 (2) 20 o@GOETY

D:-Both (1) and (2) are correct
(1) 20 (2) 9o ve@losy

Correct Answer:- Option-D

Question10:-A and B are partners sharing profits and losses equally. They admitted C as a partner with an equal share giving him a guarantee of
minimum Rs. 50,000 profit p.a. The profit for the year after C's admission was Rs. 1,20,000. What will be the net amount that will be credited to A's

Capital A/c?

2108MaysER3 @R el wedglegoem A @ B oo, @oladas eostme 50,000 @ vpemdd maam @el 800dQes a@ogloow] aead C oo mlledly. C ges
(@6QIMEDie cUoaugss Aidae e 1,20,000 Gaimodimm. A-@es gaiwme. A/C-wleaisy o@WIY ©21Qeaismm e200me @& af)@WIIEles.?

A:-Rs. 50,000
@. 50,000
B:-Rs. 40,000
@. 40,000
C:-Rs. 35,000
@. 35,000
D:-Rs. 80,000
@. 80,000
Correct Answer:- Option-C

Question11:-In the balance sheet, Contingent liability is shown because of
sn10aIBmy ldled, @REMYlE:a0@ IOWI® BIMIERMT@Y ©:06Me

A:-Convention of disclosure
6QIgloajgomalBe0 &emeniBaum

B:-Convention of materiality
ORI BHOYES BHENMBEUMBHD

C:-Convention of consistency
mudlo®Qes @ermeBaud

D:-None of the above
QG AlOOMAIOWITBALY

Correct Answer:- Option-A

Question12:-Assets are held for the purpose of
@OIVREUB ©ISCJORQAN @RQUWERUIENIS yasi sfclenmm

A:-Resale
aflenge alladene,

B:-Conversion into cash
aleMaoEs) Q@

C:-Earning revenue
Q@BDIMe BMFAT

D:-None of the above
QG AlOFOMAIOWIMRAG)

Correct Answer:- Option-C
Question13:-Stock is valued at
GIIESIBE0 gale

A:-Market price
208e0¢ afles

B:-Cost or market prices whichever is lower

6al010f @egEI@d allaeml alles ag@oem’ @oal
C:-Cost price
210108 allel
D:-None of the above
QBHEI®W AlOFTDAUOWIMRRGY
Correct Answer:- Option-B
Questionl4:-Depreciation is provided on
QeIODEA.4] MEllclesamnoy
A:-Fixed assets
mudle armile:ud
B:-Outward charges
6100} (MREBEUS
C:-Current assets
dlealea @rymyle:vd
D:-Intangible assets
@RRUOIRID @RMYHU3
Correct Answer:- Option-A

Questionl15:- shown on the debit side of Trading Account.
esauloty @OV el onmDY

A:-Sales
all@dajm
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B:-Closing Stock
GOl GIYOES

C:-Opening Stock
60 ey IO

D:-None of the above
QG AlOFOMAIOWIMRAG)

Correct Answer:- Option-C
Question16:-What does a master budget include?
8@ 20qYAd LGl agamoeTy QU@@&H%(TD@‘?

A:-Material Budget
eaglclomd ey

B:-Production Budget
OQJOWLBHM eIy

C:-Sales Budget
All@ajm enimg’

D:-All of the above
ABHEI®W A0SV

Correct Answer:- Option-D
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Questionl7:-A process of accounting that recognizes the impact of transactions on the financial statements in the time periods when revenues and

expenses occur instead of when cash is received or disbursed is called basis.

aleo Ulle:@lenEMIEed AlGEEMo 621QEMVESD aMNEIMalBEe AUBRIMNGYo H.2IRIG) TVRAILRIM E:ILIISOTIOR TLOMIGBIE: JIRIAUNGSIeL! Salge:Ees quwlms Gildlaclgm

@REE®VMNELUY (JGlRow @RSIn0dMe agam’ Aflglesme.
A:-Accrual
GUO6UEIMo
B:-Cash
aléMo
C:-None
GB(TTBID%
D:-(1) and (2)
(1), (2)
Correct Answer:- Option-A

Question18:-Cash - Rs. 5,000, Furniture - Rs. 24,000, Stock - Rs. 20,000, Creditors - Rs. 6,000, Outstanding Liabilities - Rs. 2,000. Now the amount of

Capital will be:
alemo - @. 5,000, andemlald - @. 24,000, eqpossy - @. 20,000, e@alegy - @. 6,000, @slgle mowimed - @. 2,000. oeajoud gaiwmani@eo @6 Dmoides..
A:-Rs. 49,000
@. 49,000
B:-Rs. 57,000
@. 57,000
C:-Rs. 39,000
@. 39,000
D:-Rs. 41,000
@. 41,000

Correct Answer:- Option-D
Question19:-Which of the following statements is true about the interest on Capital?
ReIWMETIBOO0 alellvd MVENITUa] @IOLAJORMM @MRYIAUMBEIT ag@osT wdl?

A:-The interest on capital reduces profits in the financial account
Ra1WMETIBO0 alellte MIMICTIS: EREEHVEINESL I0R: SO

B:-The interest on capital reduces profits in the cost account
aIwmOsldeo aelue eariol GReEVEMTERRI BI10B. GOQID

C:-The interest on capital reduces profits both in the financial and the cost accounts
Ra1WMEDIBe0 alellte MIMICTIS: Halelal EREHDETEIRAI BI10B0 HOQD

D:-The interest on capital does not reduce profits either in the financial or the cost accounts
aIwmosldes arlve MuomICTe: ErReLIEITS 6 alrinl GReEVEMTEeRI R0 GORATI

Correct Answer:- Option-A
Question20:-Which of the following statements is true about the undervaluation of stock?
CROEHIBOO RO 4] MVeENIMUSa] MOOSJOQID JTRIAUMNBEID og@osy vodl?

A:-The undervaluation of stock reduces profits in the financial account
emoasladen allaiesoal mImIEDle: @REMDEEIRLI 109G BOQD

B:-The undervaluation of stock reduces profits both in the financial and the cost account
eayossiaden allaiesoal momicmsile, 6ariol GReEVEMTEeRI LI0E. GOQMD

C:-The undervaluation of stock reduces profits in the cost account
eRIFIBen allaiesoal 6Ty EREVENENL 108 SO

D:-The undervaluation of stock does not reduce profits either in the financial or the cost account
eosladen aflaiesoal MOMICTIl®:a06@o BaleIal GREEHDENEGRI0 LG BGOQMD

Correct Answer:- Option-C
Question21:-What is Activity Ratio?
g6 (AIBCEIM @A ?

A:-Financial Ratios that measure a firm's ability to convert different accounts into a balance sheet
QOLTY CROEDDEBBOS 0B’ «aflgoes] 20QIMES GG MOIAIMETIMEO BN @RSHRM TLIMUCTIS; ERAIEEBUS

B:-Ratios that measure a company's ability to pay debt obligations and its margin of safety
BSNOWIOB D ERSPIMESS HMIMQOS &¥laje @RMIMEO MYEHUQEeS 20 M. ERSERIM ERAIOMEERUY

C:-Financial measurements that assess the ability of a company to meet its financial obligations
8@ HNMIQSS MIMICDIE: MWW dmlocagomes d¢lal alleiimamm momiewle EPeqe:ud

D:-The ratio that evaluates the company's ability to generate income as compared to its expenses
SNMIQROS af)alUPRIV] GIEDAOIFEDEMIIT QITBAIM. PEMNBIEIMEE ST alaiolBEman @M.

Correct Answer:- Option-A
Question22:-Accounting gives information or data on
@ROEBDEEloU @m@ﬁemmn@g@ allaiesnregd (WIQEO MMM

A:-Financial status of the organisations
M00aIMEEBREeS MLIMIEHS: mudlal

B:-Company's assessment obligation for a specific year
B @EOH ABUETDHRES HMIMIQeS eIl W

C:-Income and cost for the supervisors
MRajBEOQITLRRIMES AITBBIMA HalRiQ)e

D:-All the above mentioned
ABHEI AlOFDAUOWEII0

Correct Answer:- Option-D
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Question23:-If by chance the total of the sums disagree in trial balance, the distinction should be placed in
AR 200 ERES: DHG W S soaIBmia allcwosleamen®led, aymPM ®3 uodallanemo
A:-A Suspense Account
6@ TVHTYMBTY GROEBVENE
B:-The Profit and Loss Account
210BMaY GREOEHDETE’
C:-A Nominal Account
ST MDD GREOBDENE
D:-The Capital Account
Ballgod @ReERDENE
Correct Answer:- Option-A
Question24:-Liabilities of a firm is 8,00,000 and capital of the proprietor is 7,00,000. Then total assets are
8@ MndaImawiaec eowymed 8,00,000 @re, osacmunmeo gaiwm. 7,00,000 @ren. @oeajoud @redd @yl
A:-2,00,000
2,00,000
B:-15,00,000
15,00,000
C:-1,00,000
1,00,000
D:-6,00,000
6,00,000
Correct Answer:- Option-B
Question25:-The revenues and expenses of a company are displayed in which statement?
8@ GNIQeS ABAMQ ©alLiQj oD JTYoIMOlansm @:osmlsjdesomna?
A:-Balance Sheet
snuoaImdmy’ caflg’
B:-Cash Flow Statement
B0a8 GO ETRTOAMA’
C:-Income Statement
QU@BOM @(TROOJ(T)
D:-None of the above
ABHEI AlOFDAUOWIMRREY
Correct Answer:- Option-C
Question26:-Which person owes an amount to a business organisation for buying goods and services on a credit basis?
O@WIG @RSITLOIMETITE lEEBB:Se ETLAIMEERGe AERIMOIN 8@ IMIMAY BIBNEOMETVUT D& &SOYSIBILBMG) aBEY Qeiloosm?
A:-Creditors
o@WIQAd
B:-Debtors
OHWEYEY’
C:-Owner
osa
D:-None of the above
AHEI alOFDAOWITRREY
Correct Answer:- Option-B
Question27:-If the drawer is in need of money and before the due date he receives the money from bank and the process is called
GQOOIN aleMoe @RYQIYAOMESIE3, Mlualm ClR®IEs M @PWILdES Ml WA alsme RIEEBMM @GO agan allglesmmo
A:-Endorsement of bill
enflefldeo @roulle:000
B:-Discounting of bill
enflgadeo aldlal
C:-Retirement of bill
enflefldeo dls@deamdd
D:-Dishonour of bill
enligladeo momesns’
Correct Answer:- Option-B
Question28:-Financial accountancy is governed by
adlmomauy@d @peErDerrMMIl mlwaslesma
A:-Local standards only
(@JOGRUTIE MOMBEMWEIRUD BO@o
B:-International standards
@OMIEINY MIRIAE.
C:-Local as well as International accounting standards
(@JoEBUWlE:Q)e BRAMAEUTIAYDIV) BREOEIVENElLUT BOMBEMLEBRUY
D:-Company's internal top management only
SMIQes MBEOM® 6Sq] EMEEAMA AO@o
Correct Answer:- Option-C
Question29:-Goodwill is
O all@d agmomd
A:-Tangible asset
QRO @MV’
B:-Intangible asset
@RRUYROD @MVG’
C:-A current asset
dlaclea @omug’
D:-None of the above
BHE@W AlOFOMAIOWITRAG)
Correct Answer:- Option-B
Question30:-Stock is
GAROE af)M©)
A:-Part of current assets
aleleeal @OMVOBHFOS BIWo
B:-Intangible
@REUoY
C:-Included in the category of fixed assets
mudle @pmileges alonasie uieqjsoriaidiesm
D:-None of the above
QG AlOFOMAIOWIMRRGY
Correct Answer:- Option-A
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Question31:-The profit and loss account shows
2I0BMaY BEME BB
A:-The gross profit earned
eMSlQ 6RO LI0R.
B:-Net profit earned
@RQOBIWo GMS]
C:-Financial position of the concern
MLOdAIMEDIOMO MVIMIEBIe: Mudlo)
D:-None of the above
QG AlOFOMAIOWIMRAGY
Correct Answer:- Option-B
Question32:-Historical cost concept requires the valuation of an asset at
APl@ale20® aleial @RyUeEBIT -@ 8@ @MLFIBe0 gaymidap. @RI
A:-Original cost
@Wodmn aflel
B:-Net realizable value
©000m. Cleeairumila galye
C:-Replacement value
20glrundallen@d el
D:-Market value
allatem] gaie
Correct Answer:- Option-A
Question33:-A machine was purchased for Rs.90,000. It was depreciated at 10% p.a. under written drawn value method. The balance carried down
after two years will be
6@ @@- 90,000 @ug anedl. oo golada. 10% «ggole eaosm avely dofles o191, e aidauomiay e dlesloldlenm s @ @R@ElEs0.
A:-Rs. 72,900
@. 72,900
B:-Rs. 81,000
@. 81,000
C:-Rs. 70,900
@. 70,900
D:-Rs. 65,610
@. 65,610
Correct Answer:- Option-A
Question34:-In what order data is entered into Journal?
AR @ROTIR0EM (WIg ememellcd @SB Rm@?
A:-Chronological order
SIS Do
B:-Numeric Order
VB (Do
C:-Alphabetically
@D BHODORIGAOTIG
D:-Bullets
YBBQBUd
Correct Answer:- Option-A
Question35:-The manufacturing account is prepared
2000 allot) @REEDENE m@soo«es)’l@?gsna“
A:-To ascertain the cost of the manufactured goods
2@Bajodlaflesam quowmemges allel &eMeEmOd
B:-To show the sale proceeds from the goods produced during the year
QB4 2@Bafdlafla muowmeREl@ mlmogs all@alm AImBEIM. &oslenond
C:-To ascertain the profit or loss on the goods purchased
Qs MLOWMETREOS L10EMaYo HOTRIDMN@IM
D:-None of the above
QHE@D AlOOMAIOWITBAL)
Correct Answer:- Option-A
Question36:-The comparison of financial statement of one year with that of another is as per concept.
BG ABUOOD MOMICTIS (JTYIAUMOR 26QIMRIW] GO0 £.21QMOY @RUOWo (JBHOPAIETT.
A:-Going concern
eIty @enderuend
B:-Accrual
GUBEUMEMo
C:-Consistency
audle®
D:-Materiality
saglcloeld
Correct Answer:- Option-C
Question37:-Profit and loss is calculated at the stage of
210Gk MaYQYo HEMEIEBITN® agam flesoeny’
A:-Recording
©06EIBWIouY
B:-Posting
Galoqyloty
C:-Classifying
Qdleeeme
D:-Summarising
Mo(@abo
Correct Answer:- Option-D
Question38:-At the time of admission of a new partner, reserve and undistributed profit are credited to old partner capital account
8@ UL aIBIFIQOS @EARM TLRROT, H@BOT WMQYe AlMEEM. ©aIPITT LPEQ AIP® alEIE FRIWM EREEGVMECLIE OGWIG 6.21Q6q g0
A:-New profit sharing ratio
O 210Ro AlBISE @R
B:-Old profit sharing ratio
AP LIEo ABIS@ @RMAIDMo
C:-Capital ratio
QeIWMm @AM
D:-None of the above
ABHEIW AlOFTDAIOWIMRRGY
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Correct Answer:- Option-B
Question39:-The Expenses, Profit or Loss of an organisation are recorded in which account?
BB MNIMOTMBEOO ©2lRI)E:U3, LI10Bs GRERIBITD Make B®Y GREEVEMERIEMN CoaIOSOTIRIElEBIM®?
A:-Current Account
HOMO BRODENE
B:-Personal Account
QABDIN® BREEDENE
C:-Nominal Account
MIRRIE®) @ROSDENE
D:-None of the above
QBT I0ATHAIOQOMoRS)
Correct Answer:- Option-C
Question40:-Sales — Gross Profit =
Q@M — 60O a10Re =
A:-Cost of goods sold
alle mowmesges allel
B:-Net Sales
@rQ alldqjm
C:-Gross Sales
62000 aflcdaim
D:-Assets
@RS
Correct Answer:- Option-A
Question41:-When are balance sheets prepared?
Qg)GajoPIEITY enIoRImBMY’ n&ﬂg@ua ©QIOIERMD®?
A:-Quarterly
£6@BITVODITD
B:-Yearly
QBaHo BBIQo
C:-Monthly
(@l aVaullc
D:-None of the above
G AlOFOMAIOWIMRRGY
Correct Answer:- Option-B
Question42:-Which of the following is not a nominal account?
@HPOQMAIDIE MIRBI@RIW BREOEHVENE GRLOTTT ag@o6m?
A:-Outstanding salaries account
BB HQYSS MG EROEVENE
B:-Salaries account
PMIS BREOEDENE
C:-Interest paid
aleflio @S
D:-Rent paid
QIOSH M@
Correct Answer:- Option-A
Question43:-Extra commission that is allowed to the consignee if he sells the goods above a certain rate is called
8@ mluailo mlessled &M@ MIWMERUY QlCEBE:WINMEITE e TLlle:GEleRmMmIdes @pmAGlesm @RWE: d:adlauem agom’ allglesmo
A:-Overriding commission
S20aHB AClBSEBMO
B:-Adjusted commission
@ D@5 Beflasad
C:-Del-credre commission
OHWMB-O&WO B>aflauad
D:-None of the above
QBHEI AlOFDAUOQITRREY
Correct Answer:- Option-A
Question44:-The rule debit all expenses and losses and credit all income and gains relates to
QUB a0 ©.21LIQYE:Bo MaYEBBE HAENIY H2IYBQ afgid AUGBRIMYo ENFETBo 200 IMWEISDEET
A:-Personal accounts
QYETIND BROEVENZBUB
B:-Real accounts
QINIBDN @REEDENZHHUY
C:-Nominal accounts
MOR2I@® BREEHDEBHUB
D:-Representative personal accounts
QABDIN® @RE®DMNE @J@ITIw]
Correct Answer:- Option-C
Question45:-The balance of the petty cash is
6aig] &10aellBe0 enioaimdmy’ @6y’
A:-An expense
8@ 6.alelal
B:-An asset
633 (GTb(T\)gv
C:-An income
63@3 QUM@AOMo
D:-None of the above
AHEB alOFDAUOWITRREY
Correct Answer:- Option-B
Question46:-Which books is prepared to maintaining the small expenses like carriage, postage, entertainment etc.?
Qerdl, @al@?, allemose @sEFlw eadlw eariqe:ud WaINIBEmIB QIO aJTYBERUD ag@osT?
A:-Management books
206MEOAMO’ aJTYHEERUY
B:-Petty cash book
Oalg] @y0adf enyes’
C:-Accounting books
@ROEDETEUY ajTY6aRU3
D:-None of the above
@D AlOOMAIOWITBAL)
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Correct Answer:- Option-B
Question47:-Basic function of accounting is to
@ROEDEEUIIMEO @RSITLAIM (JAUBGDMo @Y’

A:-Summarise the data
WIQ MioWallead

B:-Assist the management in performing functions effectively
Ao aHMBUB anele)ea®l] Mldaladlesmailay

C:-Interpret the financial data
LM AWIQ QIEIOMERE:

D:-Record all business transactions of monetary nature
al6D MVIROQIYSS a)gfd IMUIMNMY’ SaldGd:Se CRAIONSTD:

Correct Answer:- Option-D
Question48:-The written form of partnership agreement is called as
alB0glom $E00IBE0 CMIYRIPSS (@GalOmm agan allglesmm

A:-Partnership deed
B0 BB

B:-Partnership bond
alE0glO EenIoeTE

C:-Both of the above
QBEB alOOD N0

D:-None of the above
HE@W Al0OMAIOWITBAL)

Correct Answer:- Option-A
Question49:-In the absence of partnership deed, profit and loss will be divided among the partner
al0@semdasdla] alcullmdeo @reoaEBI@, eEMY. alBgle:dsssaicd alleelereaige

A:-Profit sharing ratio
219@0 alBHISTd @RI

B:-Equally
©@elnool

C:-Capital ratio
QeIwm @A

D:-None of the above
@OJG)@O(TTOID%

Correct Answer:- Option-B
Question50:-The additional account prepared at the time of preparation of final account of partnership
B 0glODOETIME0 @RTIA GREEHDENE MPRIOIEBIN TVAQOD ORIOIEIQ @RUE: @ROEHDEITE

A:-Profit and loss appropriation account
210emay Allmileow) @O DEME

B:-Revaluation account
aJnAgamldsme @reEDENE

C:-Balance sheet
enuoaImmy’ aaflg’

D:-None of the above
ABHEI®W AlOFTMAUOWIMRRGY

Correct Answer:- Option-A
Question51:-The persons who obtained delivery of possession of goods from the owner under the hire purchase agreement is known as
QIOSE QOEIRM $HEIAB (@I £SR3 Ml MOWMERUE EOBAIW. HALYGIMEO erwealaid] emslw ABTle:d ERAleFMTY

A:-Purchaser
QIOEBRM@OU

B:-Hirer
QIISHENIRM

C:-Vendor
OQENRA

D:-None of the above
QBHEI AlOFDAUOQITRREY

Correct Answer:- Option-B
Question52:-For payment of rent in a cash, which of the following journal entry is correct?

QRS aleMAW] @RSMEM, IOCaOQY aB®Y EREM@D afdSIET Uodl?

A:-Debit Rent Expense, Credit Cash
ewenlly AsH: 6210101, OEGWIG @yl

B:-Debit Cash, Credit Rent Expense
oWl &1, BEGWIG QAsH: eIl

C:-Debit Accounts Payable, Credit Cash
@RSCREME eVENIY @ROEVENEBW, SGWIG @ioayl

D:-Debit Cash, Credit Accounts Payable
WY &oad, EPSEQETE HGIY GO DENGH B

Correct Answer:- Option-A
Question53:-Find out the gross profit or gross loss from the following:

Opening Stock Rs.40,000, Purchase Returns Rs.12,000,
Purchase Rs.2,00,000, Sales Returns Rs.20,000,

Sales Rs.5,00,000, Freight Rs.6,500

Closing Stock Rs.60,000, Wages Rs.50,000

©06900QMADIE T ORD L10RER HRIDVD MAYERD BHEEMEID::
80ay6emilewy equoss’ @.40,000, aideqymy dlegenday @.12,000,
aldeqmy’ @.2,00,000, smvaicday degemay @.20,000,
emalaay @.5,00,000, aes @.6,500
egoMluy eqyoss’ @.60,000, camm. @.50,000

A:-GP Rs. 2,55,500
eafl @.2,55,500

B:-GL Rs. 2,75,600
o @.2,75,600

C:-GP Rs. 2,68,500
el @.2,68,500

D:-GP Rs. 2,75,500
gl @.2,75,500

Correct Answer:- Option-A
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Question54:-Which accounting concept satisfy the valuation criteria?
AR @REEVENEUY @RUEAcHT YaimldER@ AOMBEMWe @oeaiSEmmM@?
A:-Going concern, Realisation, Cost
ety demeausm, @ildlgolal, eaial
B:-Going concern, Cost, Dual aspect
eNIWoUY BHEMETVEND, Ealelql, SDES QL.
C:-Cost, Dual aspect, Conservatism
21810, S QIds, @INIMLAIDIE®
D:-Realisation, Conservatism, Going concern
©@1@ai0lal, @owomud@le®, @Oy dememuem
Correct Answer:- Option-A
Question55:-A trader has made a sale of Rs. 75,500 out of which cash sales amounted to Rs. 25,500. He showed trade receivables on 31.3.2014 at
Rs. 25,500. Which concept is followed by him?
8@ aand 75,500 @ alddaim msool. oolad 25,500 @al asmaowl] aflg. 31.3.2014-ay 25,500 @ Mleesied aipalore ©aIQomes alsMo @oEga0s @06y RO @AY
@oEGa00 allas@mo?
A:-Going concern
€nofloty dendemuend
B:-Cost
ealplaf
C:-Accrual
@G
D:-Money measurement
aléMo @REET
Correct Answer:- Option-C

Question56:-In excess of debit over credit is known as
Moo @pwle ewemiy Boaid e@uidie MA@ gamR.

A:-Trading A/c, Gross Profit
GSWloUY @REENDENE, HAOMT LI0Ro
B:-Profit and Loss A/c, Gross Profit
aneE (T)n% @OOEDDENE, HRITD LI0Ro
C:-Profit and Loss A/c, Net Loss
2106 m(‘% (GTOG)ﬁ)’ﬂGWi, «mg mdgn
D:-Profit and Loss A/c, Net profit
eneE (T)n% @OOEDENE, (BTDQOGO@o
Correct Answer:- Option-C
Question57:-Closing stock balance given in the debit side of the trial balance will be written in financial statement in
@ coeIBmimeo ewenly Gwnom mmalaldlenam egomilw’’ eapoes soaidmy af)MORI MLIMITTE: MPYIUMDITE ag®ealge
A:-Trading A/c Credit Side
6SUloY @OV HGWIG HemL
B:-Liabilities
ENUOWDBU
C:-Asset Side
@RIVY HHTVAY
D:-None of the above
HE@D Al0OMAIOWITBAL)
Correct Answer:- Option-C
Question58:-The properties owned by the business are
enllmilmmilmdeo psamnolaes aimgai:eed
A:-Capital
QeIwme
B:-Assets
ARMYSuB
C:-Accounting Equations
@REEDENElUY TUAIISEERUB
D:-None of the above
QHE@W AlOFOMAIOWITRALY
Correct Answer:- Option-B
Question59:-A debit means
ewenllg agomoed
A:-Decrease in Assets
@RMYIBEI@ B0l
B:-Increase in Liability
DWW aideLmMAr
C:-An increase in Asset
armyloiicd caideumal
D:-Increase in Liability
DWW aideLMAr
Correct Answer:- Option-C
Question60:-The process of recording financial data upto trial balance is
SO FNIRIBMY AISE@SS TLIMICIS: (WIQ CREIOAISEDIM (@J&IWIET’

A:-Book keeping

ey’ reilen@d
B:-Classifying
Qdyleeeme
C:-Summarising
Mo(abo
D:-Analyzing

allledeime eaiga

Correct Answer:- Option-A
Question61:-Rohit carrying on real estate business sold a piece of land for Rs. 4,00,00,000 (cost Rs. 3,50,00,000) then the type of receipt is

nature and profit on sale is

Jo® ageqyg enlmilmmy msgom eoiadlo’ e @ere @al 4,00,00,000 @iy mﬁg. (ea1l @.3,50,00,000) @G ud EMITIBe0 ®oo ruiRdQIR0E™, al@dqjmeiee
219@o O®IEM

A:-Capital and transferred to capital reserve
QRIWMe, FRIWM HROTB GUoaIEOTIERIE aog

B:-Revenue and transferred to P & L A/c.
QU@BRIMYo, LIOE Mo @REOEDENEGRIES SomaRd 62l
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C:-Capital and transferred to P & L A/c.
QeiMo, LI0E May @O DENEIGLIES ©omayRd 621Q
D:-Revenue and transferred to general reserve
oaimy 2mo@d dlmudallealss aog]
Correct Answer:- Option-B
Question62:-Which of the following is not a Real Account?
@269 |0QIMAIVIEE BT INIBMN @REEHVENE @BLY?
A:-Cash A/c
B0 @REOEDENE
B:-Investments A/c
alesHal @REEHDENE
C:-Outstanding rent A/c
&SIGle QOSH BREOEHDVENE
D:-Purchases A/c
al@eoiTV @REEDEMTE
Correct Answer:- Option-C
Question63:-On dishonour of a discounted bill, whom does the bank look for payment?
Sdyss milgladen m0memslos, EReO@IET B EaloMA emgM®?
A:-Drawee
MQEBFaf
B:-Endoser
ag)MBEWwoTL@
C:-Payee
aléMo QIEBRAMOIUY
D:-Drawer
EQOVA
Correct Answer:- Option-D
Question64:-The act for signing by the drawer on the back of the instrument for the purpose of transfer is called
£6H20Q0 ©AYMTIMIT Dald:EEMEIMBEO al@eongmes WOV Bafgmdines wloaeom agom’ allglasme.
A:-Acceptance
aulleo0ym
B:-Retirement
alledler@d
C:-Discounting
alomyoenelouy’
D:-Endorsement
@RoUTlB:000
Correct Answer:- Option-D
Question65:-What is the dual aspect concept?
g6y Gllgey @RUe®oe?
A:-The concept that the financial statements of an organization
B TLOAIMOTIBHO MLIMICTHS @MPIAUMEUB af)iM ERUD.
B:-The underlying accounting principle that the dollar will remain constant across fiscal periods
aqomIEDile @oeiaalasmig. cwisd mudeniw] @smeam @RSITVOIM GREEVEELUT DI
C:-Every business transaction requires recordation in two different accounts
ag)gfo enflmim@Y’ e0SalgEUBER0 EEME AUMITY CREMDEBHEITE CEEIOFETTEMEDENE
D:-Accounting principle for recording revenues and expenses
QITWRIMYo HalLIQe CRIOAFTDM TIPSR EREOEVENEUY @I
Correct Answer:- Option-C
Question66:-What is Unexpired Cost?
B081aDEEMOISIOD afleial ag)aem?
A:-Any cost that has not yet been charged to the expense
DHOOE 6212103 WM VSOHMOTD aB® O.2l2IQ)
B:-The amount of money a business must currently spend to replace an essential asset
8@ @RI @MY aodlmundalesmailm’ e snilmilmay Wlanla earidlemor @s
C:-Maintaining an account tied to a certain asset
a8 dlualo tmam)gmomﬂ ninWlafla) 8@ ERe®DME Mlaimldomad
D:-The value of a company according to the stock market
GO 20BLHY @OMMVEl ] 8® HMIMIQeS galo
Correct Answer:- Option-A
Question67:-What are Liabilities?
Af)TIETY ENUOWKOHUB?
A:-Resources of a company
8m SMMlQes allraserud
B:-Expenses of a company
80 HNUMQYeS earial
C:-Obligations of a company
B8 HNMQOS EUOWIOS:UD
D:-None of the above
QAHEI alOFDAUOWITRREY
Correct Answer:- Option-C
Question68:-Capital + Liabilities = ?
QaIWMo + EOWKOBH:W = ?
A:-Revenue
QU@BIMo
B:-Assets
@RMe03
C:-Unearned Income
HEEMBOMIOT UTBAIMo
D:-Voucher
[leTH Y]
Correct Answer:- Option-B
Question69:-What causes Depreciation?
Q)Y GO 2)Q) BOEEMAIBINE?
A:-Loss of goods
(T\)OUJ(T)SGTA%SS (T)n%o
B:-Purchase of Goods
LIWMEBRUB QVEBBTD
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C:-Increased Liability
QdrUl,] oW

D:-Wear and Tear
COQPIMo

Correct Answer:- Option-D
Question70:-The Depreciation remains constant according to which method?
Qe 4 Mudlence] dlaimlaesma ag®’ dollalans?

A:-Sum of years digit
QUBHUTRSOS EREBIDE

B:-Units of production
2@ajosm Qemladeud

C:-Declining Balance
6NI0RINBMNY S:0QAT

D:-Straight Line Method
empeilg’ oeeind Gl

Correct Answer:- Option-D
Question71:-From the following particulars of Mathew & Bros prepare a bank reconciliation statement as on July 31, 2012.
1. Balance as per the cash book 54,000.
2. 100 bank incidental charges debited to Anil & Co. account, which is not recorded in cash book.
3. Cheques for 5,400 is deposited in the bank but not yet collected by the bank
4. A cheque for 20,000 is issued by Mathew and Bros not presented for payment

200y & MIEa0BEMIB IO alleroswargled aimy ool 31, 2012 oo mids; ERMESRM @JIYOAID EQIOIERS:.
1. eyasf ey’ 54,000 @jdoegss snoeimdmy.
2. &t enyesilad ceauenseTislgom @eaicd & emiml eeesosmlcales’ 100 snoss cmuomdds and@aud eawenily ealg
3. 5,400 @aiges oameud moslcd Mlesualalgersia. @aee sy coaidalgl).
4. 20,000 @ eais 200y & 6n09BEMIR M@ alEMASEIM a0omeIEIlg)
A:-Balance as per passbook - 68,500
alomIEnies (Jdoeges sioeimmy - 68,500
B:-Overdraft as per passbook - 68,500
Al (@)00a88 80AIBWIY - 68,500
C:-Balance as per passbook - 1,37,000
alomIEn)es (Jdoeges suoeimmy - 1,37,000
D:-Overdraft as per passbook - 34,250
Al (@)00a88 800IBWINY - 34,250
Correct Answer:- Option-A
Question72:-Prepare Trading Account of AB & Co., from the following particulars for the year ended March 31, 2019:
Opening Stock Rs. 56,250
Purchases Rs. 1,56,000
Sales Rs. 3,05,000
Wages Rs. 17,250
Carriage Rs. 5,500
Closing stock Rs. 45,000

2019 2084 31-07 @RIy aidaucomErss ®eeajom alaesmsgle alay AB & emnirlges esaulu) @eEDENE QI0ERE:.
&0aemleuy equoss’ @.56,250
aldeqymy @.1,56,000
al@dam @.3,05,000
@el @.17,250
aed @.5,500
eggomilosy’ eayoss @.45,000
A:-Gross loss : Rs. 1,15,000
62000 Mot : @.1,15,000
B:-Gross Profit : Rs. 1,15,000
omoOm. 21060 : @.1,15,000
C:-Gross Profit : Rs. 57,500
or0Om. 21060 ¢ @.57,500
D:-Gross Loss : Rs. 57,500
02000 Moo : @.57,500
Correct Answer:- Option-B
Question73:-Prepare a trading account of Mr. Sachin for the year ended 31st March 2010:
Opening Stock Rs. 12,000
Purchases Rs. 1,58,800
Purchases return Rs. 800
Sales Rs. 2,62,200
Sales return Rs. 2,200
Direct expenses Rs. 3,000
The closing stock was valued of Rs. 20,000

2010 20@4f 31-ay @Iy aidaucomEs dlayd MLalde0 B ESWuY @REEVENE BQICIEIE:.
&0ajemileu’ eqyoss’ @.12,000
aldeqgry @.1,58,800
aldeqmy dlegend @. 800
allayn @.2,62,200
emeladmy dlegem @.2,200
emalges eariyevd @.3,000
egoMluy eqyossiateo geye @3.20,000 erwicae.
A:-Gross loss : Rs. 1,07,500
02000 Mato : @. 1,07,500
B:-Gross loss: Rs. 2,15,000
6200 Mate : @. 2,15,000
C:-Gross Profit : Rs. 1,07,000
om0Om. 21060 ¢ @. 1,07,000
D:-Gross Profit : Rs. 2,15,000
©200Do 2106 © @. 2,15,000
Correct Answer:- Option-C
Question74:- is allowed to the customers for making prompt payment.
2sms] alemasaailm’ DalERISMIEHUBES @R gfldlasmmo.
A:-Trade discount
asa awlemyoers
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B:-Gift
muamdMo
C:-Cash Discount
B0 Wloayvers
D:-None of the above
QG AlOFOMAIOWIMRAG)
Correct Answer:- Option-C
Question75:-When a revenue expenditure is treated as capital expenditure, it is a
6@ 0aIny ©a18101 GRILM a1RIANE] GEMENILREMIIUD, @R @Ry6n.
A:-Compensating error
afleal ai@landlesamo
B:-Error of Omission
adlanenelmen allvos
C:-Error of principle
ag)0d &0’ @fldmJlaflud
D:-None of the above
QBHEIW AlOFTDAOWIMRRGY
Correct Answer:- Option-C
Question76:-Income received in the current year but which belongs to the next year is known as 'Unearned Income' and will be shown in the
side.
er‘dﬂ.l(anﬂﬁo 2IEl3j®o afMOIT BRSO AUBHUEOMERSS AURAIMo 'mnﬁ@@gﬂsom QGAOM.' ag)MOlajgMe, @Y QIO BI6MERo.
A:-Balance sheet asset
snuoaImBmy’ «flg” @oaug’
B:-Balance sheet liability
eruoaImBmy cellg’ eniowy®
C:-Manufacturing account credit
200008 alGlot) @REOEDENE SEGWIG
D:-Trading account debit
eSSty @POEDENE Hwenily’
Correct Answer:- Option-B
Question77:-The cost price of a tractor was Rs. 10 lakhs as on 1 April, 2018. Depreciation is to be provided at 20% on straight line method. The book
value as on 31st March 2022 will be
2018 agefcd 1-a¥ 8@ sogdlmdeo allal 10 aiete @al. emdeean dolwled 20% gaiomeda m@dssme. 2022 aodsl 31eal ojays gal @aidles..
A:-Rs. 2,00,000
@. 2,00,000
B:-Rs. 6,00,000
@. 6,00,000
C:-Rs. 4,00,000
@. 4,00,000
D:-Rs. 3,75,000
@. 3,75,000
Correct Answer:- Option-A
Question78:-The most apt method of depreciation for oil-wells, quarries, etc., is
AREREIEMQBUB, H1001H:03 YORIWAIY YOG QYOS aBQQYe GRIBEWIRMOW Bl @6y,
A:-Straight line method
06mg 6618 Ao
B:-Depletion method
Wlgflaud Sl
C:-Diminishing value method
el SO dli
D:-Amortization method
@PENIBEOFETVAHM @l
Correct Answer:- Option-B
Question79:-Auditing refers to
eocwidlouy ayaflaflenmmo.
A:-Reporting the financial information
aMIEBHlE: AflaIEEBU3 Gleajods’ 6.aigd:
B:-Examination of financial information
VIO ()ﬂOJ{bGGT}%G)S al@leuwawm
C:-Maintenance the ledger accounts
ORIUWRA EREEDIMNZBUD al@lnlalans,
D:-Preparation of financial statements
MOMITBIS: @MYIAUMEUB DQIOIEOTD
Correct Answer:- Option-B
Question80:-In Journal, the business transaction is recorded
ememefld, snllnilmay’ epsalos’ craansmygmﬂ@’l%mg“
A:-Once in a month
2OTLEDNORIC|EE
B:-Once in a week
@RI &6l
C:-Next day
@Rgo™m Glaime
D:-Same day
@ne® Elaime
Correct Answer:- Option-D
Question81:-Every business transaction affects at least accounts.
g enilarilmay’ Sadgdge B:06mEY @O DNBHOSOWBIRJe UOUWEBMO.
A:-Two
[
B:-Five
@6l
C:-One
630N
D:-Three
o’
Correct Answer:- Option-A
Question82:-Any written evidence in support of a business transaction is
8@ milmimmy osanslom lgem@mm agedEla cEaIYRIASS EOEINB LS
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A:-Journal
GmEMN@D
B:-Ledger
erluwRad
C:-Ledger Posting
eaIwRd Galoqylowy
D:-Voucher
DleTHPYIG)
Correct Answer:- Option-D
Question83:-Total opening balances of assets and liabilities are Rs. 15,000 and Rs. 10,000 respectively. The opening capital of the business is
@ONSHSOSQ MIILIOBHSESQ CROS: Bafelwy fIRIBIY @G 15,000 @Galige 10,000 @aigaos. simimmilmeo @foeds gaiwms @6,
A:-Rs. 10,000
@. 10,000
B:-Rs. 5,000
@. 5,000
C:-Rs. 15,000
@. 15,000
D:-Rs. 25,000
@. 25,000
Correct Answer:- Option-B
Question84:-Branch which does not maintain its own set of books is
VIO JTYBEREOS @So al@lnloalEndmm wwoe @y,
A:-Dependent branch
@AWW ERJosTRl
B:-Independent branch
IO ERjoeral’
C:-Foreign branch
alleswe Enyosay
D:-Local branch
(@JoeBwdld Enjosral’
Correct Answer:- Option-A
Question85:-In single entry system of accounting
@Re®VETELUIB60 Milwilad agade] milqyomicd
A:-Dual aspects of a transaction is recorded
6@ ©SaSIBOO DEF AURERUS EEAIOFTDM
B:-Single aspect of transaction is recorded
20SalSIBOO BB QB OISO
C:-Important transactions are recorded
@WIMOYS DSalIGHU EEEIOFTDD
D:-All of the above
BHEI®W AlOFODAOWEIIe
Correct Answer:- Option-B
Question86:-Retirement of bill means
enflefldeo alledlen® @rAmoRERM@Y
A:-sending the bill for collection
6UREIEEMETIMIW il ER@ M
B:-cancellation of the bill
snflad 0ZoEOTd
C:-endorsing the bill in favour of third party
QMoo Bealles @RI emilgflom @r.uile:dlesam
D:-making payment before the due date
dlvelo Clooles gml asmasgad
Correct Answer:- Option-D
Question87:-Which one of these documents is not required for bank reconciliation?
6108 @OMEEEBMOTIM DD GEaIGEI®B BT @RIelel?
A:-Bank column of cash book
Byt NYBSBOO ENI0B; CBOBo
B:-Bank pass book
6NI0B a0V 6N
C:-Previous year's balance sheet
Qm QIdeue o™ erioaIdmy allg’
D:-Bank Statement
61108, BIYGOAMO
Correct Answer:- Option-C
Question88:-'P' draws a three months bill on 'Q' for Rs. 8,000 on 1 August 2018. The maturity date of said bill is
2018 sowavg 1-a7 'P' 'Q'-a@d g’ moaveom enfle} 8,000 @aig) aggasme. enflafdeo @oaioaiusl @6,
A:-September 31, 2018
emvalgesnid 31, 2018
B:-November 1, 2018
mawend 1, 2018
C:-November 4, 2018
mawsnid 4, 2018
D:-October 31, 2018
a6goenid 31, 2018
Correct Answer:- Option-C
Question89:-Carriage inwards is shown on
06y enaBada -@ H06mlafl@lesmo
A:-Debit side of trading account
ey @RV eavmiyg’ alee
B:-Debit side of P & L account
afl & ag@d @Re@EEMBO0 eaveniy alves
C:-Credit side of trading account
esUlouY @ROEGVMREMO0 &G Qe
D:-Asset side of balance sheet
enuoaImBmy lldlmeo @pmug’ alves
Correct Answer:- Option-A
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Question90:-The profit on sale of old furniture should be credited to
al9®@ a0BemlaQeees allBamyes e OGWIF eagemo
A:-Trading account
esWlot) @REEDENE
B:-P & L account
all & ag@d @oesHDEE
C:-Manufacturing account
2N alGlet) @ROEDENE
D:-All of the above
QG AlOFODAIOWEIe
Correct Answer:- Option-B
Question91:-Accounting ratios are an important tool of
@REEDENElU) @RMAIIMEBRUY MO0 B (JWIM DaldhEMMBI6ITY
A:-Trial balance
S@®3 NI0RIBIY
B:-Balance sheet
sruoaImBay’ caflg’
C:-Financial Statement analysis
LIMIEDI @MYom aflveseime
D:-None of the above
QBHEIW AlOFTDAUOWIMRRGY
Correct Answer:- Option-C
Question92:-Which ratio is considered as safe margin of solvency?
AR @AM emoBIMMIQes MEes® BBHIM EROW BGEMEIBM®?
A:-Current ratio
dleiaflear @M.
B:-Acid test ratio
@RI STY @RMA®.
C:-Fixed assets ratio
mudle @Ml @M.
D:-None of the above
ABHEI AlOFDAUOWIMRREY
Correct Answer:- Option-A
Question93:-If the capital of P at the end of the year is Rs. 40,000, the capital introduced during the year is 30000, the years drawings are Rs.
20,000 and the years loss is Rs. 60,000, the capital of P at the start of the year was
QIBauoaiome P @es gaiwme @.40,000, aidauosiod @oaimdlafsal gaiwme @.30,000 @reny, QUREESS WO (B @.20,000, QBUETBEOS Mago @.60,000 eroimme,
Qdaolemno @seomlad P ges geiwm.
A:-Rs. 10,000
@. 10,000
B:-Rs. 80,000
@. 80,000
C:-Rs. 70,000
@. 70,000
D:-Rs. 90,000
@. 90,000
Correct Answer:- Option-D
Question94:-Narration is given at the end of
O©MO @RAITVIM. AllaIEEM. MEBBlElasme.
A:-Final accounts
@RI @REEDENZEUB
B:-Trial Balance
S PIoRImBIY
C:-Each ledger account
630600 OLIMRA GROEVENZo
D:-Each journal entry
60600 CREMM o) BESIQo
Correct Answer:- Option-D
Question95:-Rs. 80,000 incurred for installation of machinery is
Q@R Mundalamalmoa eariaigla 80,000 @a @6,
A:-Revenue expenditure
oaimy ealpiaf
B:-Deferred revenue expenditure
20¢leq1 oaimy ealeial
C:-Capital expenditure
QeIwm ealelal
D:-None of the above
QS AlOFOMAIOWITRAL)
Correct Answer:- Option-C
Question96:-If the capital of A at the beginning is Rs. 25,000, closing capital is Rs. 45,000, drawing is Rs. 7000 and additional capital introduced
during the year is Rs. 10,000, calculate the profit or loss
@saonicd A @es gaiwm. @.25,000, mumoaim gaiwme. @.45,000. eauoafew’ @.7,000, adauomniod @pamdlafy @owle gaiwme @.10,000, a0eend Mayen0 @emaEodsd:.
A:-Loss 17,000
maye 17,000
B:-Profit 17,000
ee. 17,000
C:-Profit 10,000
ene. 10,000
D:-Loss 10,000
maye 10,000
Correct Answer:- Option-B
Question97:-Income and expenditure account is of the nature of
SO MLIROAIAIEM QAUEAT §.21RIQN GREEHVENE.
A:-Trial balance
S RIoRImBAY
B:-Appropriation Account
allleony @Re @D
C:-P & L account
all & ag@d @oesHDeE
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D:-Balance sheet
sruoaImBay’ caflg’
Correct Answer:- Option-C
Question98:-Residual value of an asset is
8@ @RMLGIME0 ullesm gale @6,
A:-The amount realised on the sale of an asset
6@ @pmug’ alledesemud eidly @s
B:-The price paid on the purchase of the asset
@RVY QIOBREMINE M@ afles
C:-Depreciation amount charged
QEIODOEAB.4] D& DSOS
D:-None of the above
QBHEIW AlOFTDAUOWIMRRGY
Correct Answer:- Option-A
Question99:-Heavy advertising to launch a new product is a
8@ Tl O@BajMo TVAIREIERMTIMES HMOD APV DI
A:-Deferred revenue expenditure
20¢leqls) oaimy e.aleial
B:-Capital expenditure
QeIwm ealelal
C:-Revenue expenditure
oQimny ealolal
D:-None of the above
ABHEI AlOFDAUOWITRREY
Correct Answer:- Option-A
Question100:-If capital is Rs. 50,000, liability is Rs. 65,000, current assets is Rs. 35,000, then value of fixed assets is
geiwmo 50,000 @y, snowym 65,000 @y, dlleiaiioar erayl 35,000 @a! @oesmelcd @reapud cudle eomileges gale @6,
A:-Rs. 1,50,000
@. 1,50,000
B:-Rs. 50,000
@. 50,000
C:-Rs. 80,000
@. 80,000
D:-Rs. 1,30,000
@. 1,30,000
Correct Answer:- Option-C
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